
212 PIECE  
STAINLESS STEEL 
FASTENER DISPLAYs e a c h o i c e . c o m

800.243.9303 • Fax: 800.628.1304
landnsea.net

800.432.7652 • Fax: 800.942.1947
landnsea.net

©2020 Land 'N' Sea Distributing Inc. • No portion of this publication may be reproduced or copied
without the written permission of Land 'N' Sea Distributing Inc. Land 'N' Sea cannot be held responsible for typographical errors. Prices subject to change without notice.

18 Drawer Cabinet, Blue Bin  
& Divider, Bin Labels

Repl. Parts Description Size
50-01979 Unit Header Sign 32" W x 8" H
50-01984 Bin Labels N/A
50-01986 18 Drawer Clear Cabinet 18" x 6" x 9 1/2" 
50-01987 13 Shelf Unit 36" W x 12" D x 75" H  
50-01988 Blue Bins (Pack of 24) 11 5/8" W x 4 1/8" D x 4 H
50-01989 Bin Dividers (Pack of 24) N/A

Item#
50-01993

Display Includes:

• � Variety of popular fastener types and sizes. 

• � (2) Unit Header Signs - Model 01979

• � (1) Bin Labels

• � (2) 18 Drawer Clear Cabinets - Model 01986

• � (2) 13 Shelf Unit - Model 01987

• � (8 Packs of 24) Blue Bins - Model 01988

• � (8 Packs of 24) Bin Dividers - Model 01989



s e a c h o i c e . c o m

212 PIECE STAINLESS STEEL FASTENER DISPLAY

Item #	 Description	 Std Pk	 Pk # 

00598	 6-32 HEX NUT 18-8 SS	 100	 2

00599	 8-32 HEX NUT 18-8 SS	 100	 2

00601	 10-24 HEX NUT 18-8 SS	 100	 2

00603	 10-32 HEX NUT 18-8 SS	 100	 1

00604	 12-24 HEX NUT 18-8 SS	 100	 1

00606	 1/4-20 HEX NUT 18-8 SS	 100	 2

00607	 5/16-18 HEX NUT 18-8 SS	 100	 2

00608	 3/8-16 HEX NUT 18-8 SS	 100	 2

00609	 7/16-14 HEX NUT 18-8 SS	 50	 1

00611	 1/2-13 HEX NUT 18-8 SS	 50	 1

00959	 #6 FLT WSHR 3/8 OD .032 THK  316 SS	 100	 2

00961	 #8 FLT WSHR 3/8 OD .032 THK  316 SS	 100	 2

00963	 #10 FLT WSHR 7/16 OD  .050 THK  316 SS	 100	 2

00964	 #10 FLT WSHR 9/16 OD .050 THK  316 SS	 100	 2

00966	 #12 FLT WSHR 1/2 OD  050 THK 316 SS	 100	 1

00967	 1/4 FLT WSHR 11/16 OD .050 THK  18-8 SS	 100	 2

00968	 5/16 FLAT WASHER 7/8 OD .062 18-8 SS	 100	 2

00969	 3/8 FLT WSHR 1" OD  .062 THK  18-8 SS	 100	 2

00971	 7/16 FLT WSHR 1-1/8 OD .062 THK  18-8 SS	 50	 1

00973	 1/2 FLT WSHR  1-1/4 OD  .078THK  18-8 SS	 50	 1

00978	 #8 FENDER WSHR 3/4 X .050 18-8 SS	 100	 1

00979	 #10 FENDER WSHR 3/4 X .050 18-8 SS	 100	 2

00981	 #10 FENDER WSHR 1"  X .062 18-8 SS	 100	 2

00983	 1/4 FENDER WSHR 1" X .062 18-8 SS	 100	 2

00984	 1/4 FENDER WSHR 1 1/4 X .062 18-8 SS	 100	 2

00987	 5/16 FENDER WSHR 1 1/2 X .078 18-8 SS	 50	 1

00988	 3/8 FENDER WSHR 1 1/2 X .078 18-8 SS	 50	 1

00617	 6-32 NYLON INSERT LOCKNUT 18-8 SS	 100	 2

00618	 8-32 NYLON INSERT LOCKNUT 18-8 SS	 100	 2

00619	 10-24 NYLON INSERT LOCKNUT 18-8 SS	 100	 2

00621	 10-32 NYLON INSERT LOCKNUT 18-8 SS	 100	 1

00624	 1/4-20 NYLON INSERT LOCKNUT 18-8 SS	 100	 2

00626	 5/16-18 NYLON INSERT LOCKNUT 18-8 SS	 100	 2

00627	 3/8-16 NYLON INSERT LOCKNUT 18-8 SS	 100	 2

00628	 7/16-14 NYLON INSERT LOCKNUT 18-8 SS	 25	 1

00629	 1/2-13 NYLON INSERT LOCKNUT 18-8 SS	 25	 1

Item #	 Description	 Std Pk	 Pk # 

01006	 #8 LOCK WSHR 316 SS	 100	 2

01007	 #10 LOCK WSHR 316 SS	 100	 2

01009	 1/4 LOCK WSHR 316 SS	 100	 2

01011	 5/16 LOCK WSHR 316 SS	 100	 2

01013	 3/8 LOCK WSHR 316 SS	 100	 2

01014	 7/16 LOCK WSHR 18-8 SS	 50	 1

01016	 1/2 LOCK WSHR 18-8 SS	 50	 1

00949	 #6 FIN WSHR 316 SS	 100	 2

00951	 #8 FIN WSHR 316 SS	 100	 2

00953	 #10 FIN WSHR 316 SS	 100	 2

00954	 #12 FIN WSHR 316 SS	 100	 1

00956	 1/4 FIN WSHR 316 SS	 100	 1

00001	 1/4-20 X 1/2 HEX CAP SCREW 18-8 SS	 100	 1

00004	 1/4-20 X 3/4 HEX CAP SCREW 18-8 SS	 100	 1

00006	 1/4-20 X 1 HEX CAP SCREW 18-8 SS	 100	 1

00007	 1/4-20 X 1 1/4 HEX CAP SCREW 18-8 SS	 50	 1

00008	 1/4-20 X 1 1/2 HEX CAP SCREW 18-8 SS	 50	 1

00011	 1/4-20 X 2 HEX CAP SCREW 18-8 SS	 50	 1

00013	 1/4-20 X 2 1/2 HEX CAP SCREW 18-8 SS	 25	 1

00014	 1/4-20 X 3 HEX CAP SCREW 18-8 SS	 25	 1

00017	 1/4-20 X 4 HEX CAP SCREW 18-8 SS	 25	 1

00026	 5/16-18 X 3/4 HEX CAP SCREW 18-8 SS	 25	 2

00027	 5/16-18 X 1 HEX CAP SCREW 18-8 SS	 25	 2

00028	 5/16-18 X 1 1/4 HEX CAP SCREW 18-8 SS	 25	 1

00029	 5/16-18 X 1 1/2 HEX CAP SCREW 18-8 SS	 25	 1

00033	 5/16-18 X 2 HEX CAP SCREW 18-8 SS	 25	 1

00034	 5/16-18 X 2 1/2 HEX CAP SCREW 18-8 SS	 10	 2

00036	 5/16-18 X 3 HEX CAP SCREW 18-8 SS	 10	 1

00038	 5/16-18 X 4 HEX CAP SCREW 18-8 SS	 10	 1

00046	 3/8-16 X 1 HEX CAP SCREW 18-8 SS	 25	 1

00047	 3/8-16 X 1 1/4 HEX CAP SCREW 18-8 SS	 25	 1

00048	 3/8-16 X 1 1/2 HEX CAP SCREW 18-8 SS	 25	 1

00051	 3/8-16 X 2 HEX CAP SCREW 18-8 SS	 25	 1

00053	 3/8-16 X 2 1/2 HEX CAP SCREW 18-8 SS	 10	 4

00054	 3/8-16 X 3 HEX CAP SCREW 18-8 SS	 10	 1

00057	 3/8-16 X 4 HEX CAP SCREW 18-8 SS	 10	 1



s e a c h o i c e . c o m

212 PIECE STAINLESS STEEL FASTENER DISPLAY

Item #	 Description	 Std Pk	 Pk # 

00851	 #6 X 3/8 PHIL PAN SMS 18-8 SS	 100	 2

00853	 #6 X 1/2 PHIL PAN SMS 18-8 SS	 100	 2

00854	 #6 X 5/8 PHIL PAN SMS 18-8 SS	 100	 2

00856	 #6 X 3/4 PHIL PAN SMS 18-8 SS	 100	 2

00857	 #6 X 1 PHIL PAN SMS 18-8 SS	 100	 2

00858	 #6 X 1 1/4 PHIL PAN SMS 18-8 SS	 100	 2

00859	 #6 X 1 1/2 PHIL PAN SMS 18-8 SS	 100	 2

00863	 #8 X 3/8 PHIL PAN SMS 18-8 SS	 100	 2

00864	 #8 X 1/2 PHIL PAN SMS 18-8 SS	 100	 2

00866	 #8 X 5/8 PHIL PAN SMS 18-8 SS	 100	 2

00867	 #8 X 3/4 PHIL PAN SMS 18-8 SS	 100	 2

00868	 #8 X 1 PHIL PAN SMS 18-8 SS	 100	 2

00869	 #8 X 1 1/4 PHIL PAN SMS 18-8 SS	 100	 2

00871	 #8 X 1 1/2 PHIL PAN SMS 18-8 SS	 100	 2

00874	 #8 X 2 PHIL PAN SMS 18-8 SS	 100	 2

00879	 #10 X 1/2 PHIL PAN SMS 18-8 SS	 100	 2

00883	 #10 X 3/4 PHIL PAN SMS 18-8 SS	 100	 2

00884	 #10 X 1 PHIL PAN SMS 18-8 SS	 100	 2

00886	 #10 X 1 1/4 PHIL PAN SMS 18-8 SS	 100	 2

00887	 #10 X 1 1/2 PHIL PAN SMS 18-8 SS	 100	 2

00889	 #10 X 2 PHIL PAN SMS 18-8 SS	 50	 2

00891	 #10 X 2 1/2 PHIL PAN SMS 18-8 SS	 50	 1

00897	 #12 X 3/4 PHIL PAN SMS 18-8 SS	 100	 1

00898	 #12 X 1 PHIL PAN SMS 18-8 SS	 100	 1

00899	 #12 X 1 1/4 PHIL PAN SMS 18-8 SS	 50	 1

00901	 #12 X 1 1/2 PHIL PAN SMS 18-8 SS	 50	 1

00904	 #12 X 2 PHIL PAN SMS 18-8 SS	 50	 1

00906	 #12 X 2 1/2 PHIL PAN SMS 18-8 SS	 50	 1

00907	 #12 X 3 PHIL PAN SMS 18-8 SS	 50	 1

00908	 #14 X 3/4 PHIL PAN SMS 18-8 SS	 100	 1

00909	 #14 X 1 PHIL PAN SMS 18-8 SS	 100	 1

00911	 #14 X 1 1/4 PHIL PAN SMS 18-8 SS	 50	 1

00913	 #14 X 1 1/2 PHIL PAN SMS 18-8 SS	 50	 1

00916	 #14 X 2 PHIL PAN SMS 18-8 SS	 50	 1

00918	 #14 X 3 PHIL PAN SMS 18-8 SS	 50	 1

00689	 #6 X 1/2 PHIL FLAT SMS 18-8 SS	 100	 2

Item #	 Description	 Std Pk	 Pk # 

00691	 #6 X 5/8 PHIL FLAT SMS 18-8 SS	 100	 2

00693	 #6 X 3/4 PHIL FLAT SMS 18-8 SS	 100	 2

00694	 #6 X 1 PHIL FLAT SMS 18-8 SS	 100	 2

00696	 #6 X 1 1/4 PHIL FLAT SMS 18-8 SS	 100	 2

00697	 #6 X 1 1/2 PHIL FLAT SMS 18-8 SS	 100	 2

00703	 #8 X 5/8 PHIL FLAT SMS 18-8 SS	 100	 2

00704	 #8 X 3/4 PHIL FLAT SMS 18-8 SS	 100	 2

00706	 #8 X 1 PHIL FLAT SMS 18-8 SS	 100	 2

00707	 #8 X 1 1/4 PHIL FLAT SMS 18-8 SS	 100	 2

00708	 #8 X 1 1/2 PHIL FLAT SMS 18-8 SS	 100	 2

00711	 #8 X 2 PHIL FLAT SMS 18-8 SS	 50	 2

00713	 #8 X 2 1/2 PHIL FLAT SMS 18-8 SS	 50	 1

00718	 #10 X 3/4 PHIL FLAT SMS 18-8 SS	 100	 2

00719	 #10 X 1 PHIL FLAT SMS 18-8 SS	 100	 2

00721	 #10 X 1 1/4 PHIL FLAT SMS 18-8 SS	 100	 2

00723	 #10 X 1 1/2 PHIL FLAT SMS 18-8 SS	 100	 2

00726	 #10 X 2 PHIL FLAT SMS 18-8 SS	 50	 2

00727	 #10 X 2 1/2 PHIL FLAT SMS 18-8 SS	 50	 1

00728	 #10 X 3 PHIL FLAT SMS 18-8 SS	 50	 1

00734	 #12 X 3/4 PHIL FLAT SMS 18-8 SS	 100	 1

00736	 #12 X 1 PHIL FLAT SMS 18-8 SS	 100	 1

00737	 #12 X 1 1/4  PHIL FLAT SMS 18-8 SS	 100	 1

00738	 #12 X 1 1/2 PHIL FLAT SMS 18-8 SS	 50	 1

00741	 #12 X 2 PHIL FLAT SMS 18-8 SS	 50	 1

00743	 #12 X 2 1/2 PHIL FLAT SMS 18-8 SS	 50	 1

00744	 #12 X 3 PHIL FLAT SMS 18-8 SS	 50	 1

00748	 #14 X 3/4 PHIL FLAT SMS 18-8 SS	 100	 1

00749	 #14 X 1 PHIL FLAT SMS 18-8 SS	 100	 1

00751	 #14 X 1 1/4 PHIL FLAT SMS 18-8 SS	 50	 1

00753	 #14 X 1 1/2 PHIL FLAT SMS 18-8 SS	 50	 1

00756	 #14 X 2 PHIL FLAT SMS 18-8 SS	 50	 1

00757	 #14 X 2 1/2 PHIL FLAT SMS 18-8 SS	 50	 1

00758	 #14 X 3 PHIL FLAT SMS 18-8 SS	 50	 1

00778	 #6 X 1/2 PHIL OVAL SMS 18-8 SS	 100	 2

00779	 #6 X 5/8 PHIL OVAL SMS 18-8 SS	 100	 2

00781	 #6 X 3/4 PHIL OVAL SMS 18-8 SS	 100	 2



Item #	 Description	 Std Pk	 Pk # 

00783	 #6 X 1 PHIL OVAL SMS 18-8 SS	 100	 2

00784	 #6 X 1 1/4 PHIL OVAL SMS 18-8 SS	 100	 2

00786	 #6 X 1 1/2 PHIL OVAL SMS 18-8 SS	 100	 2

00789	 #8 X 5/8 PHIL OVAL SMS 18-8 SS	 100	 2

00791	 #8 X 3/4 PHIL OVAL SMS 18-8 SS	 100	 2

00793	 #8 X 1 PHIL OVAL SMS 18-8 SS	 100	 2

00794	 #8 X 1 1/4 PHIL OVAL SMS 18-8 SS	 100	 2

00796	 #8 X 1 1/2 PHIL OVAL SMS 18-8 SS	 100	 2

00798	 #8 X 2 PHIL OVAL SMS 18-8 SS	 50	 1

00799	 #8 X 2 1/2 PHIL OVAL SMS 18-8 SS	 50	 1

00806	 #10 X 3/4 PHIL OVAL SMS 18-8 SS	 100	 2

00807	 #10 X 1 PHIL OVAL SMS 18-8 SS	 100	 2

00808	 #10 X 1 1/4 PHIL OVAL SMS 18-8 SS	 100	 2

00809	 #10 X 1 1/2 PHIL OVAL SMS 18-8 SS	 100	 2

00813	 #10 X 2 PHIL OVAL SMS 18-8 SS	 50	 2

00814	 #10 X 2 1/2 PHIL OVAL SMS 18-8 SS	 50	 1

00816	 #10 X 3 PHIL OVAL  SMS18-8 SS	 50	 1

00818	 #12 X 3/4 PHIL OVAL SMS 18-8 SS	 100	 1

00819	 #12 X 1 PHIL OVAL SMS 18-8 SS	 100	 1

00821	 #12 X 1 1/4 PHIL OVAL SMS 18-8 SS	 50	 1

00823	 #12 X 1 1/2 PHIL OVAL SMS 18-8 SS	 50	 1

00826	 #12 X 2 PHIL OVAL SMS 18-8 SS	 50	 1

00827	 #12 X 2 1/2 PHIL OVAL SMS 18-8 SS	 50	 1

00828	 #12 X 3 PHIL OVAL SMS 18-8 SS	 50	 1

00831	 #14 X 1 PHIL OVAL SMS 18-8 SS	 100	 1

00834	 #14 X 1 1/2 PHIL OVAL SMS 18-8 SS	 50	 1

00837	 #14 X 2 PHIL OVAL SMS 18-8 SS	 50	 1

00839	 #14 X 3 PHIL OVAL SMS 18-8 SS	 50	 1

00448	 8-32 X 1/2 PHIL PAN M/S 18-8 SS	 100	 1

00451	 8-32 X 3/4 PHIL PAN M/S 18-8 SS	 100	 1

00453	 8-32 X 1 PHIL PAN M/S 18-8 SS	 100	 1

00456	 8-32 X 1 1/2 PHIL PAN M/S 18-8 SS	 100	 1

00457	 8-32 X 2 PHIL PAN M/S 18-8 SS	 50	 1

00464	 10-24 X 1/2 PHIL PAN M/S 18-8 SS	 100	 1

Item #	 Description	 Std Pk	 Pk # 

00467	 10-24 X 3/4 PHIL PAN M/S 18-8 SS	 100	 1

00468	 10-24 X 1 PHIL PAN M/S 18-8 SS	 100	 1

00471	 10-24 X 1 1/2 PHIL PAN M/S 18-8 SS	 100	 1

00474	 10-24 X 2 PHIL PAN M/S 18-8 SS	 50	 1

00476	 10-24 X 2 1/2 PHIL PAN M/S 18-8 SS	 50	 1

00477	 10-24 X 3 PHIL PAN M/S 18-8 SS	 50	 1

00504	 1/4-20 X 1/2 PHIL PAN M/S 18-8 SS	 100	 1

00507	 1/4-20 X 3/4 PHIL PAN M/S 18-8 SS	 100	 1

00508	 1/4-20 X 1 PHIL PAN M/S 18-8 SS	 100	 1

00511	 1/4-20 X 1 1/2 PHIL PAN M/S 18-8 SS	 50	 1

00514	 1/4-20 X 2 PHIL PAN M/S 18-8 SS	 50	 1

00516	 1/4-20 X 2 1/2 PHIL PAN M/S 18-8 SS	 25	 1

00517	 1/4-20 X 3 PHIL PAN M/S 18-8 SS	 25	 1

00519	 1/4-20 X 4 PHIL PAN M/S 18-8 SS	 25	 1

00226	 8-32 X 1/2 PHIL FLAT M/S 18-8 SS	 100	 1

00228	 8-32 X 3/4 PHIL FLAT M/S 18-8 SS	 100	 1

00229	 8-32 X 1 PHIL FLAT M/S 18-8 SS	 100	 1

00233	 8-32 X 1 1/2 PHIL FLAT M/S 18-8 SS	 100	 1

00234	 8-32 X 2 PHIL FLAT M/S 18-8 SS	 50	 1

00239	 10-24 X 1/2 PHIL FLAT M/S 18-8 SS	 100	 1

00243	 10-24 X 3/4 PHIL FLAT M/S 18-8 SS	 100	 1

00244	 10-24 X 1 PHIL FLAT M/S 18-8 SS	 100	 1

00247	 10-24 X 1 1/2 PHIL FLAT M/S 18-8 SS	 100	 1

00249	 10-24 X 2 PHIL FLAT M/S 18-8 SS	 50	 1

00251	 10-24 X 2 1/2 PHIL FLAT M/S 18-8 SS	 50	 1

00253	 10-24 X 3 PHIL FLAT M/S 18-8 SS	 50	 1

00284	 1/4-20 X 3/4 PHIL FLAT M/S 18-8 SS	 100	 1

00286	 1/4-20 X 1 PHIL FLAT M/S 18-8 SS	 100	 1

00287	 1/4-20 X 1 1/4 PHIL FLAT M/S 18-8 SS	 50	 1

00288	 1/4-20 X 1 1/2 PHIL FLAT M/S 18-8 SS	 50	 1

00291	 1/4-20 X 2 PHIL FLAT M/S 18-8 SS	 50	 1

00293	 1/4-20 X 2 1/2 PHIL FLAT M/S 18-8 SS	 25	 1

00294	 1/4-20 X 3 PHIL FLAT M/S 18-8 SS	 25	 1

00297	 1/4-20 X 4 PHIL FLAT M/S 18-8 SS	 25	 1

s e a c h o i c e . c o m

212 PIECE STAINLESS STEEL FASTENER DISPLAY


